
 

-  3 Poi
 

1. In wh
 

        (A)  
 

2. Barba
colour, f
 

(A) 7 
 

3. Three 
(A) 2 € 
 

4. A blac
is 3m lon
 

(A) 1 m 
 
 

5. On th
29 days 
 

(A) 29 da
 

6. Which
hexagon

A) 
 

7. The n
increase
 

(A) ሺ6 ൅
 

8. In the
legs of a
 
(A) 6      
 

 

-  4 Poi
 

9. The la
row has 
(A) 120 
 

Math
Group 

A

int Questio

ich of the fiv

        
         

ara  wrote  "K
for different 

      (B) 8  

bars of choc
(B) 4

ckboard has 
ng. How long

    (B) 1∙25 m

e 24th Febru
in February 

ays      (B) 2

h pattern wil
ns. 

 (B)

umber three
ed by 1. Whic

൅ 3		2ሻ ൅ 1  

e school for a
all the anima

   (B) 5         (

int Questio

ast row in an
6 seats. How
  (B) 1

ematics
Benjam
Austria 

ns  - 

ve pictures is

  
    (B)   

KAENGURUW
letters diffe

(C) 9 

olate cost 6 €
4 €  (

a total unfol
g is the secti

m  (C) 1∙5 m

uary 2012 Gr
in 2012.  Ho

24 days 

ll you get if y

 

e should be a
ch of the foll

 (B) 6 ൅ 32

animals there
ls, and got 4

(C) 4         (D) 

ns  - 

n aeroplane i
w many pass
138 

s Kanga
min (Gra
‐ 15.3.2

s the white a

      
     (C

WETTBEWER
rent colours

     (D) 10

€. How much
(C) 1 € 

lded length o
on labelled w

m    (D) 1∙75 m

randfathers c
w old are th

(C) 22 days  

you join the c

(C) 

added to the
owing sums 

2 ൅ 1  (C) ሺ6

e are 3 cats, 
4. How man

3         (E) 2

s row 25. Th
senger seats 
(C) 142 

roo 201
ades 5./
2012  

rea bigger th

        
)   

RB"  on the b
. How many 

(E) 11 

h does one ba
(D) 3 €

of 6m. The m
with a quest

m  (E) 2 m

chicks hatch
e chicks toda

    (D) 20 d

centres of ea

(D) 

e number 6. T
 fits this des

൅ 3ሻ 	ሺ2 ൅

2 ducks, 2 sh
y dogs go to

ere is no row
are there on

(D) 144

12 
/6.) 

han the grey

 
     (D)   

lackboard. F
different co

ar of chocolat
(E) 5

middle sectio
ionmark? 

 

ed.  There ar
ay on 15th M

days     (E) 1

ach of the ne

This amount
cription?  

൅ 1ሻ   (D) ሺ6 ൅

heep and so
o the school?

w 13 and row
n this aeropla
  (E) 1

area? 

     
        (E)  

or same lette
lours did she

te cost? 
€ 

n 

re 
March 2012? 

15 days 

eighbouring 

(E) 

t is then doub

൅ 3ሻ 	2 ൅ 1

me dogs. Th
 

w 15 has only
ane?  
150   

 
  

ers she used
e use. 

 

  

bled and the

1    (E) 6 ൅ 3	

e teacher co

y 4 seats. Eve

d the same 

e result 

	ሺ2 ൅ 1ሻ  

ounted the 

ery other 

 



 
10. In ad
2 balloo
the bask
 (A) 60 k
 
 

11. Gran
had 25 p
3 apples
number 
given th
 

(A) 12 
 
 

12. Whic
complet
 

(A) 1, 3, 
 
 
 

13. Lisa 
letter on
always h
be seen 
 

(A) A 
 
 

14. The 
red, 5 is 
 

(A) gree
 
 

15. The 
eight eq
 

(A) 8 cm
 

 
16. The 
have aft

(A) 

(C) 
 

(E) It dep
 

-  5 Poi
 

17. The 
sum of t
be writt
(A) 1 
 

 
 

ddition to the
ns can lift 18
ket?    
kg  (B) 5

ndmother ga
piecs of fruit
s and 2 pears
of apples an
em? 

(B) 13  (C) 1

ch three puz
te the large p

4 (B) 1, 3, 6 
 

built a large 
n each of the
have a differe
in the pictur

(B) B  (C) C

Natural num
blue, 6 is gr

n only  (B) r

figure on the
qually sized s

m2     (B) 9 cm

upper coin r
terwards? 

pends on the

int Questio
 

numbers 1 t
the numbers
en in the up
      (B) 3  

e weight of t
80 kg in addi

50 kg

ave Vivian an
. On the way
s. At home th
nd pears in th

16  (D) 20 

zzle pieces do
puzzle? 

(C) 2, 3, 5 (D

cube out of 
eir faces (A,B
ent letter on
re? 

C  (D) D 

mbers are to 
een and so o

red only 

e right has a 
quares. Wha
2  (C) 24 cm

rolls without 

  (B)  

   (D) 

e speed. 

ns  - 

to 7 should b
s along each 
permost circ

(C) 4 

the basket a 
tion to the w

(C) 40 kg

nd Mike some
y home Vivia
hey noted th
he basket. H

(E) 21   

o you need t

D) 2, 3, 6 (E) 2

8 smaller on
B,C or D).  Tw
n them. Whic

(E) The pictu

be painted. 
on.  Which co

(C) blue only

perimeter o
at is the area

m2   (D) 72 cm

sliding arou

be written in 
line is the sa
cle on the tri
     (D) 5 

single balloo
weight of the

(D) 30 k

e apples and
an ate 1 appl
hat there we
ow many pe

to 

2, 5, 6

nes.  The sma
wo cubes with
ch letter is o

ure is not po

1 is red, 2 is 
olour(s), can

y    (D) red or

of 42 cm. The
a of the figur

m2  (E) 128 c

nd the fixed 

  

   

the small cir
ame. Which n
angle? 

(E) 6 

on can lift 80
e basket. How

g  (E) 2

d pears. In to
e and 3 pear
re exactly th
ears had gran

all cubes hav
h a common
n the cube th

ssible. 

blue,  3 is gr
 the sum of a

r blue  (E) i

e figure was 
e? 

cm2 

lower coin. 

rcles so that 
number shou

0 kg. 
w heavy is 

20 kg 

otal they 
rs, Mike ate 
e same 
ndmother 

ve the same 
 face 
hat cannot 

een, 4 is 
a red and a b

mpossible to

made from 

Which posit

the 
uld 

blue number

o say.    

ion will the t

r have? 

two coins 



18. Four
picture. 
and the 
each ful
 

(A) 3 
 
19. A rec
wide. Af
leftover 
square? 

 

(A) 1 mm
 
20. A reg
shown, u
cut away
paper is 

(A) 

 
21. Both

pieces. T
pieces a
differen

(A) 2∙5 c
  

22. A few
the bott
Which o

(A) 
 

23. A sq
as show
sections
 

(A) 10 cm
 
24.  12 c
6, 7, 8, 9
age grou
 

(A) 8 

r cogs are co
The first has
fourth 10. H
l turn of the 

(B) 4  (C) 6
 
ctangular pie
fter making a
piece and so

 

m  (B) 4
 
gular octago
until a triang
y. Which of t
unfolded? 

(B)

h the figures 

The rectangl
re quarter ci
ce between 

cm    (B) 5 cm

w fields of a 
tom row and
of the followi

 

uare piece o
w in the pictu
s? 

m2   (B) 14 cm

children were
9, and 10 yea
up. What is t

  (B) 7

nnected to e
s 30 teeth, th
How many tu
first cog? 

6  (D) 8 

ece of paper
a straight cut
o on until the

4 mm 

on is folded t
gle is formed
the following

) 

on the right

e has dimen
ircles with 2 
the perimet

m  (C) 10 cm

44 grid we
d left column
ing could grid

(B) 

of paper of ar
re.  What is t

m2  (C) 15 cm

e at a birthd
ars old. Four 
the average a

7,5 

each other as
he second 15
rns will the l

(E) 9 

 is 108mm lo
t you have a 
e leftover pie

(C) 6 mm

hree times d
d. Then the ri
g shapes is fo

(C)

were made

sions 5cm 
different siz
ers of the tw
 

m    (D) 15 cm

re painted re
 give the num
ds could be a

 (C) 

rea  64 cm 2

the area of t

m2   (D) 16 cm

ay party. The
of them wer
age of the ch

(C) 7 

s shown in t
5, the third 6
last cog mak

ong and 84 m
square and 
ece itself is s

(D) 10 m

down the mid
ightmost cor
ormed when

(

out of the sa

10cm. The o
zed radii. Wh
wo figures? 

m  (E) 20 cm

ed. The num
mber of field
a solution? 

 is folded tw
the two grey

m2  (E) 24 cm

e children w
re 6 years ol
hildren? 

(D) 6∙5

he 
60 
ke for 

mm 
a leftover pi
square. Wha

mm  (E) 1

ddle as 
rner is 
n the 

(D)

ame 5 

other 
hat is the 

m 

mbers in 
ds coloured r

 (D) 

wice 
 

m2
 

ere 
d. There wer

  (E) 6

ece. You do 
t is the side 

12 mm

(E) 

red. The red 

re more 8 ye

6   

the same w
length of the

   

was then ru

 (E) 

ear olds than

ith the 
e last 

bbed away. 

 

n any other 


